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U] R e, LR g A TERREE, 8 ¢ (wams) =0,
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oy = (d'wp"w)
wy= (d'w'p? 4p)
w12 FOLOT = (1) (L/T)" (F'T/L*)* (FT /L)
SF=0:0+1=0, . O=-1;
2L=0;44+b—4C—2=0;0=—1:
ST=0:—0p+20+1=0; b=~-1

gp: wy=d W o p=p/dwp = Fl.g;

wa: FOLOT = (L)*(L/T) (FT?/L4)* (F /L7
XF=0, g+1=0; /. g=-1;
SL=0, ¢e+f—49—2=0, 2=0,
2T=0, —f-29=0, f=-2,
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En , wy=dw Zp 1 dp= pwi,; R
BT RR 0 F e
| - 22 4p y_ -
. @ (w1, Wz) —¢<*M,' ;{02‘)-0 3
E'E El)?_(pl( o )o

19. AT RSB B , KIS B R B S S oh i R T
@) BSRIEY 0.9 Wy IhHARIMAE, i MY 800 [EK]. 4 18 [K], &k
PHIERSY , B TR 50 e b X 578 FE 4R 2k _
S wk /R B85 [ T3/ %%

0.85 75.2
1.21 : 188
1.54 210
1.91 808
2.82 418
(2) BRBELISE, BAKMSTE R 60[ZE K], 4 24[%] A RE , T SD A BB m
F: ,

SR vy I/F] EIrias 4p [T3¢/K%)

o011 10.7
0.16 - 20.5 .
0.22 _ 84.4
0.26 46.4
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